Midterm 1

Physics 1A (Lec 3)

Name:
Suivp  Mopy

ID number:
wok azzaqy,

Time to complete the exam: 90 min

Each problem is worth 20 points. If a problem has parts (a) and (b), they are 10 points each. It
is not sufficient to present the final answer. You need to show the solution and justify your steps
at the level of detail that would be sufficient for your fellow classmate (or grader) to understand
how you arrived at the final answer. Please write your solutions in the spaces below each
question. You can use the back sides of the pages as scrap paper. Numerical answers need
not have more significant figures than the numbers provided in the problem.
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A car with mass 1000 kg is driven at a speed of 40 km/hour on a level road. What
ust be applied to stop it in a distance of 30 m? '
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Problem

An arch« . arrow w1t|
15 mete. o 'm the bow.
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Problem 3
A partlcle moves in a

e according to v(t)
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g of radius r = 5 m. During some time interval, its speed varies with
a+ bli', where a=4m/fs, b=16 ms®.
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hat forcis needed to pull
mass (m, Yith acceleration(q if the
coefficient of friction between the two
blocks and between the block and the
floor is@ Express the answer in
terms of the two masses andu. ~
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fb) What is the force of tension T in the string?
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Problem 5

A 10-kg block is pulled up an inclined plane by a force parallel to the inclined plane that makes
angle 60 degrees with the horizontal. The force of 256 N is required to make it move with an

acceleration of 30-mfs?. 3 M|t _ a 150
F-150N
(a) What is force of friction?
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(b) What is the coefficient of friction?
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Each cord can support a maximum tension of 200 N. What
is the greatest mass that can be supported as shown in the
Figure?

// % \ /P 2F)( = "T\ sin30° 4+ TZ. sinF0° = 0

/\fq é j T\()D530°'TZODS’+O'-—T$ =0 ‘ ,_5
-\5\(\_;,,. 4 !’ /r\' (_,0380“ "Tl ws—:‘,oo B W\ﬂ -0
T,  cos 20 20" - 1) Cos T T, sT0" =
T 3 Bl%
T, cos 20° - T, cos T0°
A00ws30 - 200 <ws T Nl i
A.g = NS N

TB:Y‘/\g

LO0= M
. \

i F el Jevh | oF
meklQteg S \::\'wc(,hm gl o

U\@/r\o\,ﬁh« &ol‘, ¥ dwd hony e
-\ '«v- /) ‘a,) W’tu

i\



